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BfHE  £3.0m~5. 0mLLT

5 176, 000 35, 200
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# H T F - = B - M A AR BN 4 #H 1 BN 72 Y B
BOERR  AEERRIEE JE15emPL R
(DIDXHH)
10 m 44,000 4, 400
BOEWE  AEERRIE R JE15emBL R
(DIDX [ %)
10 m 44,000 4, 400
e BT (RC-40)
10 m 132, 000 13, 200
W T (FAW)
10 m 154, 000 15, 400
FRAELERT 3km X7 b7 v U2tk
(DIDXHH)
50 m 253, 000 5, 060
FRAELEHRT 3km X7 b7 v U2tk
(DIDX [ %)
50 m 253, 000 5, 060
FRAELERT S5km X7 b7 v U2t Rk
(DIDXHH)
50 m 319, 000 6, 380
FRAELERT S5km X7 b7 v U2tk
(DIDX [ %)
50 m 319, 000 6, 380
FRAELERT 3km X7 b7 v U4t FERK
(DIDXHH)
50 m 176, 000 3, 520
FRAELERT 3km X7 b7 v U4t FERK
(DIDX [ %)
50 m 143, 000 2, 860
FRAELERT S5km X7 b7 v U4t FERK
(DIDXHH)
50 m 253, 000 5, 060
FRAELERT S5km X7 b7 v U4t FER
(DIDX [ %)
50 m 220, 000 4, 400
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FBETAST 3km X7 T v 72tk
(DIDXHH)
50 m 253, 000 5, 060
FBETAST 3km XU M7 v 72t R
(DIDX [H]fE)
50 m 253, 000 5, 060
FBAETALST bkm XU MT v 72t FEK
(DIDXHH)
50 m 319, 000 6, 380
FBAETALST bkm XU T v 72t FEK
(DID X [A]fE)
50 m 319, 000 6, 380
FBETAST 3km X7 N7 v 74t FER
(DIDXHH)
50 m 176, 000 3,520
FBAETAST 3km XU N7 v 74t FER
(DIDX [H]fE)
50 m 143, 000 2, 860
FBETALSST bkm XU T v 74t FER
(DIDX A
50 m 253, 000 5, 060
FBAETALST bkm XU NT v 74t FER
(DIDX [H]fE)
50 m 220, 000 4, 400
FKET 1E4em FHABBET A2 (13)
100 m 495, 000 4,950
FKET 1E4em FABBET A =2 (20)
100 m 495, 000 4,950
FKET 1E5cm FABBET A2 (13)
100 m 561, 000 5,610
FKET 1E5cm FABBE T A =2 (20)
100 m 561, 000 5, 610
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1 7 9,000
S ik B (1K) ;
1 #; 9, 000
BT tie &0
878, 000%1. 1337% ;
74,800 /6, 597, 459 1 2 9, 000
WL ;
1 7 83, 800
B s i
2, 858, 000%1. 1080% §
83, 800 /7, 562, 959 1 2 31, 000
T 5354
1 it 114, 800
R
2,291, 568%1. 1016%-44
114, 800 /10, 420, 959 1 2 25, 200
TEAMHs
1 7 140, 000
TR B :
140, 000%10. 00% g
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T (A e A
1 7 11, 000
S ik B (1K) ;
1 #; 11, 000
BT tie &0
878, 000%1. 3338% ;
88, 000 /6, 597, 459 1 X 11, 000
WL ;
1 v 99, 000
B s i
2, 858, 000+1. 3090% §
99, 000 /7, 562, 959 1 X 37, 000
T 5354
1 it 136, 000
RN
2, 291, 568%1. 3050%5, 906
136, 000 /10, 420, 959 1 X 24, 000
TEAMHs
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1 7 15, 000
Fem R (EID) ;
1 #; 15, 000
BT tie &0
878, 000%1. 7256% ;
113, 850 /6, 597, 459 1 2 15, 000
WL ;
1 7 128, 850
L A 5
2, 858, 000%1. 7036% §
128, 850 /7, 562, 959 1 2 48, 000
T 5354
1 it 176, 850
R
2,291, 568%1. 6970%-5, 739
176, 850 /10, 420, 959 1 2 33, 150
TEAMHs
1 7 210, 000
TR B ;
210, 000%10. 00% g
1 = 21, 000

11




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

231, 000

12




# B - L M - #H
MR — b

BA 0 HAl 2 5
MR — b

1§ =
M1150mm  £50m  F/K3EH

55, 000
300 106
BT HEE :

31, 800
et at

Tl
Xz
Tl

\

31, 800
Feam i

R

\

£ (k)

4, 000
Hm a7

1 #;
878, 000%0. 4820%

31,800 /6, 597, 459

4, 000
Wi Ty

4, 000
B B

1 =
2, 858, 000%0. 4733%

35, 800
35,800 /7, 562, 959
T H 5

13, 000
— R A

1 2 48, 800
2, 291, 568%0. 4682%-9, 531 é
48,800 /10, 420, 959 i
T Al

1,200
THFBLSF A S 8

1 = 50, 000
50, 000%10. 00%

5, 000

13



AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

55, 000

14




AT FORE

% B - I B - & B - M A b4 & AL B il 4 b BH A LA e
HERRAEEI T Ny 7R ) 0.28m :
1l t 242, 000
IR T (N> 7 R ) :
7e=5%1 0. 28m3 5 TUKIEHE 1% P16
50 n3 2,337 116,850 i 1 &
TR
: 116, 850
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116, 850 /6, 597, 459 1 2 15, 000
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1 7 131, 850
B s
2, 858, 000+1. 7433% §
131, 850 /7, 562, 959 1 2 49, 000
T 5354
1 it 180, 850
R
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180, 850 /10, 420, 959 1 2 39, 150
TEAMHs
1 7 920, 000
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BT tie &0
878, 000%3. 5490% :
234, 150 /6, 597, 459 1 7 31, 000
T E
1 7 265, 150
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2, 858, 000+%3. 5059% §
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L
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1 7 70, 000
TR (R1L)
1 = 70, 000
i ER B Ry :
878, 000%4. 8510%+28, 000
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Wi Ty
390, 050
e gy
2, 858, 000%5. 1573%+34, 000
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TR
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17, 500
et at
1 A 2,000
Hm et (1K)
1 A 2,000
Hm a7
878, 000%0. 2652%
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2, 858, 000%0. 2578%
19,500 /7, 562, 959 1 & 7, 000
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1l t 44, 000
I R IR A 5
Bk (5% 5 % R B, 5L 15 el ) ; I -2-25-1
3.5kmEA T DIDKRIA MY4ERER (BiIF) & 10 m3 2,285 22, 850 4 5
BB T HEE
: 22, 850
S 2 gt :
15 = 3, 000
e R # (10) ;
1 N 3, 000
EISTATEIE E 2
878, 000%0. 3463% ;
22, 850 /6, 597, 459 1: oy 3, 000
T EE ;
1 N 25, 850
B E P 5
2, 858, 000%0. 3417% §
25, 850 /7, 562, 959 1: X 9, 000
TR
1 it 34, 850
— W P
2, 291, 568%0. 3344%-2, 513
34, 850 /10, 420, 959 1 X 5, 150
T HAm#%
1 N 40, 000
T B A 2 4R
40, 000%10. 00% ;
1 X 4, 000
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A T F B AN R E
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1l t 44, 000
TRTER Al AR 5
Bk (5% 5 % R B, )5 15emh ) ; I -2-25-1
3.5kmLL  DIDX M #AYHHFERE: (BA4F) &te 10 m3 2, 285 22, 850 P 5%
[ER R T
: 22, 850
S 2 gt :
15 = 3, 000
{2 (RAL) ;
1 = 3, 000
BT tie &0
878, 000%0. 3463% ;
22, 850 /6, 597, 459 1 = 3, 000
WL ;
1 = 25, 850
RIGEHE :
2, 858, 000%0. 3417% §
25,850 /7,562, 959 1 = 9, 000
T 5354
1 it 34, 850
—
2, 291, 568%0. 3344%2, 513
34, 850 /10, 420, 959 1 = 5, 150
TEAMHs
1 7 40, 000
MEE=gink Y sy |
40, 000%10. 00% i
1 = 4, 000
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A T F B AN R E
% H - 1T PEy A ==X vA H it 4 % B BT 2 B pAE i
P BT (RC-40)
1 = 132, 000
T Ha s 1T (Kbl )
TOKEEHE 1% P33
10 m3 6, 503 65,030 | i 4 &
[ERZAR =)
65, 030
IR
1 = 8, 000
FLE R 2 (R1k)
1 = 8, 000
IR B =Ry
878, 000%0. 9856Y%
65, 030 /6, 597, 459 1 = 8, 000
WL
1 = 73, 030
G s
2, 858, 000%0. 9656%
73,030 /7,562, 959 1 = 27, 000
T H 5
1 = 100, 030
— R
2,291, 568%0. 9598%-2, 026
100, 030 /10, 420, 959 1 = 19, 970
T Al
1 = 120, 000
MEE=gink Y sy |
120, 000%10. 00%
1 = 12, 000
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A T H e
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W T (B4R
154, 000
T HARE T (s it T2)
TEXS W TOKEEHE 1 P32
76, 610 it Za
[EREBE X o
76, 610
IR R R
10, 000
FLE R 2 (R1k)
10, 000
IR B =Ry
878, 000%1. 1612%
76,610 /6,597, 459 10, 000
Wi Ty
86, 610
G s
2, 858, 000%1. 1451%
86, 610 /7, 562, 959 32, 000
T H 5
118, 610
— R
2,291, 568%1. 1381%—4, 692
118,610 /10, 420, 959 21, 390
T Al
140, 000

THFBLSF A S 8
140, 000%10. 00%

14, 000




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

154, 000

34




AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA P
FRAELEMRT 3km XU N7 v 72tk
1l t 253, 000
FEAE L ER T QAR FARFEA 2r)
M e S km TKIEAE BB 1% P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 2,483 124,150 i 6 &
BT HEE :
124, 150
Ham a2 5t
1 7 16, 000
Ham g (FAb) :
1 #; 16, 000
i ER B Ry E
878, 000%1. 8817% g
124, 150 /6, 597, 459 1: 7 16, 000
Wi i
1 7 140, 150
B s i
2, 858, 000%1. 8531%
140, 150 /7, 562, 959 1 7 52, 000
T H 5 :
1 it 192, 150
— i PR i
2, 291, 568%1. 8438%4, 403
192, 150 /10, 420, 959 L 7 37, 850
T HAm#% =
1 7 230, 000
THE B S %A E
230, 000%10. 00% g
1 = 23, 000
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AT HF B AN R OFE

% B - T f - FE OB - M B b4 & ==X vA B it & b BH A LA e
RATEHRT 3km X7 NT v T2tk
1l t 253, 000
FEAE A ER T (2tFE R, BEMRRE A )
M e S km TKIEAE BB 1% P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 2,483 124,150 | f@ 7 =
EE TR :
124, 150
Ham a2 5t
1 7 16, 000
Ham g (FAb) !
1 #; 16, 000
IR B =Ry 5
878, 000%1. 8817% g
124, 150 /6, 597, 459 1 7 16, 000
Wi i
1 7 140, 150
B E i
2, 858, 000%1. 8531%
140, 150 /7, 562, 959 1 7 52, 000
T H 5 :
1 it 192, 150
— R B i
2,291, 568%1. 8438%-4, 403
192, 150 /10, 420, 959 1 7 37, 850
T HAm#% =
1 7 230, 000
THE B S %A 5
230, 000%10. 00% g
1 = 23, 000
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AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA P
FAELEMRT dkm XU T w72tk
1l t 319, 000
FEAE L ER T QAR FARFEA 2r)
T S km TKIEAE BB 1% P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 3,104 155,200 i 8 &
BT HEE :
155, 200
Ham a2 5t
1 7 20, 000
Ham g (FAb) :
1 #; 20, 000
i ER B Ry E
878, 000%2. 3524% g
155, 200 /6, 597, 459 1: 7 20, 000
Wi i
1 7 175, 200
e gy :
2, 858, 000%2. 3165%
175, 200 /7, 562, 959 1 7 66, 000
T H 5 :
1 it 241,200
— i PR i
2, 291, 568%2. 3145%4, 239
241,200 /10, 420, 959 L 7 48, 800
T HAm#% =
1 7 290, 000
THE B S %A E
290, 000%10. 00% g
1 = 29, 000
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AT HF B AN R OFE

% B - T f - FE OB - M B b4 & ==X vA B it & b BH A LA e
RATEHRT Skm X7 NT v T2tk
1l t 319, 000
FEAE A ER T (2tFE R, BEMRRE A )
T S km TKIEAE BB 1% P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 3,104 155,200 | f@ 9 &
EE TR :
155, 200
Ham a2 5t
1 7 20, 000
Ham g (FAb) !
1 #; 20, 000
IR B =Ry 5
878, 000%2. 3524% g
155, 200 /6, 597, 459 1 7 20, 000
Wi i
1 7 175, 200
B s :
2, 858, 000%2. 3165%
175, 200 /7, 562, 959 1 7 66, 000
T H 5 :
1 it 241,200
— R B i
2,291, 568%2. 3145%—4, 239
241, 200 /10, 420, 959 1 7 48, 800
T HAm#% =
1 7 290, 000
THE B S %A 5
290, 000%10. 00% g
1 = 29, 000
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% B - I fEix AL B il 4 b BH A LA e b=
FRAELEMRT 3km X7 NT v 74t R ;
1l t 176, 000
FEAE A ER T (AtFE R, BEMRFEIA #) i
M e S km TKIEAE BB 1% P24
N yRY Ja-37 0. 28m3 DIDIX[E & Y 50 n3 1,791 89,550 | fii 10 &
TR
: 89, 550
eSS ;
1 7 11, 000
Fem R (EID) ;
1 #; 11, 000
BT tie &0
878, 000%1. 3573% ;
89, 550 /6, 597, 459 1 2 11, 000
WL ;
1 7 100, 550
B s
2, 858, 000+1. 3295% §
100, 550 /7, 562, 959 1 2 37, 000
T 5354
1 it 137, 550
R
2,291, 568%1. 3199%-7, 797
137, 550 /10, 420, 959 1 2 22, 450
TEAMHs
1 7 160, 000
THE B S %A
160, 000%10. 00% g
1 = 16, 000

43




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

176, 000

44




AT H= H AN R OF
# B - L & - & B # s =<K {va H il 4 % B LA 2 5 Pt “e
RATEHRT 3km X7 NT v T4t FEk
1 = 143, 000
F&AE T IE T (AtARRR . BERLA 7)
M e S km TKIEAE BB 1% P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 1,432 71,600 | i 11 &
[ERE N
71, 600
I B &t
1 = 9, 000
IR (1)
1 = 9, 000
IR B = 5y
878, 000%1. 0852%
71, 600 /6, 597, 459 1 Y 9, 000
T EE
1 = 80, 600
B E
2, 858, 000%1. 0657%
80, 600 /7, 562, 959 1 = 30, 000
TR
1 = 110, 600
— e A P e
2,291, 568%1. 0613%-4, 920
110, 600 /10, 420, 959 1 = 19, 400
T HAm#%
1 = 130, 000
THE RS FR M 5E
130, 000%10. 00%
1 = 13, 000

45




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

143, 000

46




AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA P
FRAELEMRT dkm XU NI v 74t R
1l t 253, 000
FEAE L EW T (AR, FARFE A 2r)
T S km TKIEAE BB 1% P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 2,507 125,350 i 12 &
BT HEE :
125, 350
Ham a2 5t
1 7 16, 000
Ham g (FAb) :
1 #; 16, 000
i ER B Ry E
878, 000%1. 8999% g
125, 350 /6, 597, 459 1: 7 16, 000
Wi i
1 7 141, 350
e gy :
2, 858, 000%1. 8689Y%
141, 350 /7, 562, 959 1 7 53, 000
T H 5 :
1 it 194, 350
A :
2, 291, 568%1. 8649%-7, 087
194, 350 /10, 420, 959 L 7 35, 650
T HAm#% =
1 7 230, 000
THE B S %A E
230, 000%10. 00% g
1 = 23, 000

47




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

253,000

48




AT HF B AN R OFE

% B - T f - FE OB - M B b4 & ==X vA B it & b BH A LA e
RAETEHRT Skm X7 NT v T4t FEk
1l t 220, 000
FEAE A ER T (AtFE R, BEMRFEIA #)
T S km TKIEAE BB 1% P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 2, 149 107,450 | f@ 13 =
EE TR :
107, 450
Ham a2 5t
1 7 14, 000
Ham g (FAb) !
1 #; 14, 000
IR B =Ry 5
878, 000%1. 6286% g
107, 450 /6, 597, 459 1 7 14, 000
Wi i
1 7 121, 450
B s :
2, 858, 000%1. 6058%
121, 450 /7, 562, 959 1 7 45, 000
T H 5 :
1 it 166, 450
— R |
2,291, 568%1. 5972%-3, 052
166, 450 /10, 420, 959 1 7 33, 550
T HAm#% =
1 7 200, 000
MEE=gink Y sy | :
200, 000%10. 00% g
1 = 20, 000

49




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

220, 000

50




AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA e
FBAELUST 3km X7 T w72tk
1l t 253, 000
LI T (R ROA D)
MR ERRESkm 47" by 2t Rk ; TKERYE B P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 2,483 124,150 @ Hi 14 &
BT HEE :
124, 150
Ham a2 5t
1 7 16, 000
Ham g (FAb) :
1 #; 16, 000
i ER B Ry 5
878, 000%1. 8817% g
124, 150 /6, 597, 459 1: 7 16, 000
Wi i
1 7 140, 150
B s i
2, 858, 000%1. 8531%
140, 150 /7, 562, 959 1 7 52, 000
T H 5 :
1 it 192, 150
— i PR i
2, 291, 568%1. 8438%4, 403
192, 150 /10, 420, 959 L 7 37, 850
T HAm#% =
1 7 230, 000
THE B S %A E
230, 000%10. 00% g
1 = 23, 000

51




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

253,000

52




AT HF B AN R OFE

# B - T M - FE B - M A » & HT B it 4 i B 4 BTG 2 5 %
RAETNST 3km X7 NT w72tk
1l t 253, 000
F62E A5y T (BROA 22)
MR ERRESkm 47" by 2t Rk ; TKERYE B P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 2,483 124,150 | f@ 15 =
B T
124, 150
IR R R
1 7 16, 000
FLE R 2 (R1k)
1 #; 16, 000
IR B =Ry 5
878, 000%1. 8817% g
124, 150 /6, 597, 459 1 K 16, 000
U=y i
1 K 140, 150
BL R f
2, 858, 000%1. 8531%
140, 150 /7, 562, 959 1 K 52, 000
T H 5 :
1 it 192, 150
— R
2,291, 568+%1. 8438%—4, 403
192, 150 /10, 420, 959 1 K 37, 850
T HAm#% =
1 7 230, 000
MEE=gink Y sy |
230, 000%10. 00% g
1 = 23, 000

53




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

253,000

54




AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA e
FBAELTWST bkm X7 NT w72t ik
1l t 319, 000
LI T (R ROA D)
MR ERREDkm 47 My 2t Rk ; TKERYE B P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 3,104 155,200 | Hi 16 &
BT HEE :
155, 200
Ham a2 5t
1 7 20, 000
Ham g (FAb) :
1 #; 20, 000
i ER B Ry 5
878, 000%2. 3524% g
155, 200 /6, 597, 459 1: 7 20, 000
Wi i
1 7 175, 200
e gy :
2, 858, 000%2. 3165%
175, 200 /7, 562, 959 1 7 66, 000
T H 5 :
1 it 241,200
— i PR i
2, 291, 568%2. 3145%4, 239
241,200 /10, 420, 959 L 7 48, 800
T HAm#% =
1 7 290, 000
THE B S %A E
290, 000%10. 00% g
1 = 29, 000

55




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

319, 000

56




AT HF B AN R OFE

# B - T M - FE B - M A » & HT B it 4 i B 4 BTG 2 5 %
AT T bkm X7 NT w72t FEk
1l t 319, 000
F62E A5y T (BROA 22)
MR ERREDkm 47 My 2t Rk ; TKERYE B P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 3,104 155,200 | f@ 17 =
B T
155, 200
IR R R
1 7 20, 000
FLE R 2 (R1k)
1 #; 20, 000
IR B =Ry 5
878, 000%2. 3524% g
155, 200 /6, 597, 459 1 K 20, 000
U=y i
1 K 175, 200
B :
2, 858, 000%2. 3165%
175, 200 /7, 562, 959 1 K 66, 000
T H 5 :
1 it 241,200
— R
2, 291, 568%2. 3145%4, 239
241, 200 /10, 420, 959 1 K 48, 800
T HAm#% =
1 7 290, 000
MEE=gink Y sy |
290, 000%10. 00% g
1 = 29, 000

o7




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

319, 000

58




AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA e
FBAELTUST 3km X7 T v 74t FER
1l t 176, 000
LI T (R ROA D)
MEMRERRESkm 47 by 4Rk ; TKERYE B P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 1,791 89,550 i 18 %
BT HEE :
89, 550
Ham a2 5t
1 7 11, 000
Ham g (FAb) :
1 #; 11, 000
i ER B Ry 5
878, 000%1. 3573% g
89, 550 /6, 597, 459 1: 7 11, 000
Wi i
1 7 100, 550
e gy :
9, 858, 000%1. 3295%
100, 550 /7, 562, 959 1 7 37, 000
T H 5 :
1 it 137, 550
— i PR i
2, 291, 568%1. 3199%-7, 797
137, 550 /10, 420, 959 L 7 22, 450
T HAm#% =
1 7 160, 000
THE B S %A E
160, 000%10. 00% g
1 = 16, 000

59




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

176, 000

60




AT H= H AN R OF
# B - L & - & B # s =<K {va H il 4 % B LA 2 5 Pt “e
AT T 3km X7 NT w74t FEk
1 = 143, 000
FE A ALy T (B IA 2)
MEMRERRESkm 47 by 4Rk ; TKERYE B P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 1,432 71,600 | fii 19 &
[ERE N
71, 600
I B &t
1 = 9, 000
IR (1)
1 = 9, 000
IR B = 5y
878, 000%1. 0852%
71, 600 /6, 597, 459 1 Y 9, 000
T EE
1 = 80, 600
Bl E A
2, 858, 000%1. 0657%
80, 600 /7, 562, 959 1 = 30, 000
TR
1 = 110, 600
— e A P e
2,291, 568%1. 0613%-4, 920
110, 600 /10, 420, 959 1 = 19, 400
T HAm#%
1 = 130, 000
THE RS FR M 5E
130, 000%10. 00%
1 = 13, 000

61




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

143, 000

62




AT HF B AN R OFE

% B - I B - & B - M A bg & AL B il 4 b BH A LA e
FBAELTWST 5km XU NI w74t FER
1l t 253, 000
LI T (R ROA D)
MR ERREDkm 7 v7 by 4Rk ; TKERYE B P24
N ypEy Je-37 0. 28m3 DIDIX [ & ¥ 50° m3 2,507 125,350 @ Hi 20 &
BT HEE :
125, 350
Ham a2 5t
1 7 16, 000
Ham g (FAb) :
1 #; 16, 000
i ER B Ry 5
878, 000%1. 8999% g
125, 350 /6, 597, 459 1: 7 16, 000
Wi i
1 7 141, 350
e gy :
2, 858, 000%1. 8689Y%
141, 350 /7, 562, 959 1 7 53, 000
T H 5 :
1 it 194, 350
— i PR i
2, 291, 568%1. 8649%-7, 087
194, 350 /10, 420, 959 L 7 35, 650
T HAm#% =
1 7 230, 000
THE B S %A E
230, 000%10. 00% g
1 = 23, 000

63




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

253,000

64




AT HF B AN R OFE

# B - T M - FE B - M A » & HT B it 4 i B 4 BTG 2 5 %
AT T bkm X7 NT v 74t FEk
1l t 220, 000
F62E A5y T (BROA 22)
MR ERREDkm 7 v7 by 4Rk ; TKERYE B P24
N oy Je=7% 0. 28m3 DIDR ] 72 L 50 m3 2, 149 107,450 | f@ 21 =
B T
107, 450
IR R R
1 7 14, 000
FLE R 2 (R1k)
1 #; 14, 000
IR B =Ry 5
878, 000%1. 6286% g
107, 450 /6, 597, 459 1 K 14, 000
U=y i
1 K 121, 450
B :
2, 858, 000%1. 6058%
121, 450 /7, 562, 959 1 K 45, 000
T H 5 :
1 it 166, 450
— R
2,291, 568%1. 5972%-3, 052
166, 450 /10, 420, 959 1 K 33, 550
T HAm#% =
1 7 200, 000
MEE=gink Y sy |
200, 000%10. 00% g
1 = 20, 000

65




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

220, 000

66




XK T = B N R E
%2 B -+ I FfE - FE B H b4 & ==X vA B il & b BH A LA e b=
F£ET 1Eim FHABRET 2232 (13) g
1l t 495, 000
B (HEE - KEE) 1840 4 EE40mm :
FARERLEET 222 (13) ; V-1-@-1
R E L AnKim fora-b BXEHEE2. 35 100: m2 2,397 239, 700 6 &
LR T A
: 939, 700
ER Y o
1 7 31, 000
e (T B (LK) :
1 #; 31, 000
BT tie &0
878, 000%3. 6332% ;
239, 700 /6, 597, 459 1: = 31, 000
WL ;
1 v 270, 700
B s i
2, 858, 000%3. 5792% §
270, 700 /7, 562, 959 1 = 102, 000
T 5354
1 it 372, 700
R
2, 291, 568%3. 5764%4, 656
372, 700 /10, 420, 959 1 = 77, 300
TEAMHs
1 7 450, 000
MEE=gink Y sy |
450, 000%10. 00% g
1 = 45, 000

67




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

495, 000

68




XK T = B N R E
%2 B -+ I FfE - FE B H b4 & ==X vA B il & b BH A LA e b=
F£ET 1Eim HFHABRET 222 (20) g
1l t 495, 000
B (HEE - KEE) 1840 4 EE40mm :
FHAEERLEET 222 (20) V-1-@-1
R E L AnKim fora-b BXEHEE2. 35 100: m2 2, 387 238, 700 75
LR T A
: 238, 700
ER Y o
1 7 31, 000
e (T B (LK) :
1 #; 31, 000
BT tie &0
878, 000%3. 6180% ;
238, 700 /6, 597, 459 1: = 31, 000
WL ;
1 v 269, 700
B s
2, 858, 000+%3. 5660% §
269, 700 /7, 562, 959 1 = 101, 000
T 5354
1 it 370, 700
R
2, 291, 568%3. 5572%-2, 216
370, 700 /10, 420, 959 1 = 79, 300
TEAMHs
1 7 450, 000
MEE=gink Y sy |
450, 000%10. 00% g
1 = 45, 000

69




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

495, 000

70




XK T = B N R E
%2 B -+ I FfE - FE B H b4 & ==X vA B il & b BH A LA e b=
F£EIT 1Ebcm HABRET 22 (13) g
1l t 561, 000
B (HEE-KEE) U849 4 EE50mm :
FARERLEET 222 (13) ; V-1-@-1
R E L AnKim fora-b BXEHEE2. 35 100: m2 2,704 270, 400 8 &
LR T A
: 270, 400
ER Y o
1 7 35, 000
e (T B (LK) :
1 #; 35, 000
BT tie &0
878, 000%4. 0985% ;
270, 400 /6, 597, 459 1: = 35, 000
WL ;
1 v 305, 400
B s i
2, 858, 000%4. 0381% §
305, 400 /7, 562, 959 1 = 115, 000
T 5354
1 it 420, 400
R
2, 291, 568%4. 0341%-2, 845
420, 400 /10, 420, 959 1 = 89, 600
TEAMHs
1 7 510, 000
MEE=gink Y sy |
510, 000%10. 00% g
1 = 51, 000
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AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

561, 000

72




XK T = B N R E
%2 B -+ I FfE - FE B H b4 & ==X vA B il & b BH A LA e b=
F£ET 1Ebcm HABRKET 22 (20) g
1l t 561, 000
B (HEE-KEE) U849 4 EE50mm :
FHAEERLEET 222 (20) V-1-@-1
R E L AnKim fora-b BXEHEE2. 35 100: m2 2,692 269, 200 9 &
LR T A
: 269, 200
ER Y o
1 7 35, 000
e (T B (LK) :
1 #; 35, 000
BT tie &0
878, 000%4. 0803% ;
269, 200 /6, 597, 459 1: = 35, 000
WL ;
1 v 304, 200
B s
2, 858, 000%4. 0222% §
304, 200 /7, 562, 959 1 = 114, 000
T 5354
1 it 418, 200
R
2, 291, 568%4. 0130%—162
418, 200 /10, 420, 959 1 = 91, 800
TEAMHs
1 7 510, 000
MEE=gink Y sy |
510, 000%10. 00% g
1 = 51, 000

73




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

561, 000

74




% B - T f - FE OB - M B b4 & ==X vA B it & b BH A LA e
BT 1Ebem HAMKE T 2 2 (20)
1l t 363, 000
HoE (FE - HEH) 184 v 44 EJ=50mm
FRAMLRLEET 237 (20) ; V-1-@-1
IR ES. OmEE 7 Fba—} FREEREED. 35 100: m2 1,792 179, 200 P 10 &
T E Al
179, 200
Ham a2 5t
1 7 23, 000
Ham g (FAb)
1 = 23, 000
IR B =Ry :
878, 000%2. 7161% ;
179, 200 /6, 597, 459 1: = 23, 000
WL ;
1 v 202, 200
BGE
2, 858, 000%2. 6735%
202, 200 /7, 562, 959 1 = 76, 000
T 5354
1 it 278, 200
— B
2, 291, 568%2. 6696%-9, 376
278, 200 /10, 420, 959 1 = 51, 800
TEAMHs
1 7 330, 000
MEE=gink Y sy | :
330, 000%10. 00% ;
1 = 33, 000

75



AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

363, 000

76




A T F B AN R E
% H T f& - & 5 WA » & HAAL B fili 4 %A B 4 BTG 2 5 % %t
AR T (M-30)  10cm 1= T ;
1l t 165, 000
e A (R - BB TR ) f
Al BV R 100mm 1)E i T : V-1-O-1
WL TR M-30 100: m2 814 81, 400 11 &
B T
: 81, 400
Sl it
1 7 10, 000
S B (R Ik
1 #; 10, 000
BT tie &0
878, 000%1. 2338% ;
81, 400 /6, 597, 459 1 = 10, 000
T F 2 ;
1 = 91, 400
B i
2, 858, 000+1. 2085% §
91, 400 /7,562, 959 1 = 34, 000
T 5354
1 it 125, 400
—
2,291, 568%1. 2033%-2, 975
125, 400 /10, 420, 959 1 = 24, 600
TEAMHs
1 7 150, 000
MEE=gink Y sy |
150, 000%10. 00% g
1 = 15, 000

T




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

165, 000

78




% H T &= - B B - M H b4 & ==X vA B it & b BH A LA e
AR T (M-30)  15cm 1=t T
1l t 220, 000
b JE A (FEE - B F D)
At b0 JE150mm 1) i T ; V-1-0-1
RLEEFRIEA M-30 100: m2 1,104 110, 400 P 12 &
ekt
110, 400
Ham a2 5t
1 7 14, 000
Ham g (FAb)
1 = 14, 000
IR B =Ry
878, 000%1. 6733% ;
110, 400 /6, 597, 459 1: = 14, 000
WL ;
1 v 124, 400
BGE
2, 858, 000%1. 6448%
124, 400 /7, 562, 959 1 = 47,000
T 5354
1 it 171, 400
— B
2, 291, 568%1. 6447%-9, 090
171, 400 /10, 420, 959 1 = 28, 600
TEAMHs
1 7 200, 000
MEE=gink Y sy | :
200, 000%10. 00% ;
1 = 20, 000

79



AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

220, 000

80




A T F B AN R E
% H T Ff i i HAAL B fili & %A B 4 BTG 2 5 % %t
TIERAE T (40-0) 15cm  LjE /i L
1l t 154, 000
T e A (R - B TR 5D f
Al BV R 150mm 1)E i T : V-1-O-1
AR T @ Ak (40-0) 100: m2 753 75, 300 P 13 &
B T F &zt
: 75, 300
IR R R
1 7 10, 000
S B (R Ik
1 #; 10, 000
BT tie &0
878, 000%1. 1413% ;
75, 300 /6, 597, 459 1 = 10, 000
WL ;
1 = 85, 300
B i
2, 858, 000%1. 1278% §
85, 300 /7, 562, 959 1 = 32, 000
T 5354
1 it 117, 300
—
2,291, 568%1. 1256%3, 094
117,300 /10, 420, 959 1 = 22, 700
TEAMHs
1 7 140, 000
MEE=gink Y sy |
140, 000%10. 00% g
1 = 14, 000

81




AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

154, 000

82




A T F B AN R E
% H T & ™ & ==X vA H it 4 #H B BT 2 B pAE i
TIERAE T (40-0) 3lcm  2E i L
1 = 319, 000
T A (FEE - B E )
At b0 JFE310mm 2JE i T ; V-1-0-1
AR T @ Ak (40-0) 100: m2 1, 544 154, 400 P 14 %5
EE TR
154, 400
IR R R
1 = 20, 000
FLE R 2 (R1k)
1 = 20, 000
IR B =Ry
878, 000%2. 3402%
154, 400 /6, 597, 459 1 = 20, 000
Wi Ty
1 = 174, 400
B E
2, 858, 000%2. 3059%
174, 400 /7, 562, 959 1 = 65, 000
TR
1 = 239, 400
— R
2,291, 568%2. 2972%-2, 044
239, 400 /10, 420, 959 1 = 50, 600
T HAm#%
1 = 290, 000
MEE=gink Y sy |
290, 000%10. 00%
1 M 29, 000
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AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

319, 000

84




A T F B AN R E
% H T & ™ & ==X vA H it 4 #H B BT 2 B pAE i
TIERAE T (40-0) 36cm  2)E fifi L
1 = 352, 000
T A (FEE - B E )
At b 0 JE360mm 2JE i T ; V-1-0-1
AR T @ Ak (40-0) 100: m2 1,717 171,700 P 15 &
EE TR
171, 700
IR R R
1 = 22, 000
FLE R 2 (R1k)
1 = 22, 000
IR B =Ry
878, 000%2. 6025%
171,700 /6, 597, 459 1 = 22, 000
Wi Ty
1 = 193, 700
B E
2, 858, 000%2. 5611%
193, 700 /7, 562, 959 1 = 73, 000
TR
1 = 266, 700
— R
2,291, 568%2. 5592%-5, 347
266, 700 /10, 420, 959 1 = 53, 300
T HAm#%
1 = 320, 000
MEE=gink Y sy |
320, 000%10. 00%
1 M 32, 000
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AL FHF O E AN R OF

N

o>
Ul

- f Bl - MOH %

fein

HAL H il 4 & BA 0 HAl 2 5

352, 000

86




# H - L B - f 3 IE
AREHEIE T

BA 0 HAl 2 5
ANEREEIE

1§ =
ImmLA _F 13mmAS T

33, 000
RLEE IR M30 100 m2 176
BT HEE :

V-1--1
17,600 P
et at
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